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(variance)
X V(X)
V(X) = E{(X - E[X])*}

V(X)=FE{X*-2XFE[X]+ (E[X])?}
= E[X?] — (E[X])?
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V(eX) =c*V(X)
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(standard deviation)

D(X) = /V(X)

0'2 O

(standardization)
X
_ X - E(X)

“= D)
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(skewness) o
E{[X - E(X))’}
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1D(X)}°
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(kurtosis) O4

Ba =

E{[X - E(X)]"}

Bs =3
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(moment)

oy = E[XT]

v = E[(X — E[X])']
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(moment generating function)

Z R (ZIZ)

T

Mx(t) = Ele!*] =
/emf(x)dx
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f(t)
£ = fla) + (- o) 4 - a2l
6tX _ 1 (tX) (t‘;f) (t‘;f)
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Mx (t) = E[e"] o
= E[1] + tE
(X] +t2E[X2]
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Mx(t) =1+ it + %tQ + ’;j”ﬁ + -
Mic(t) = i+ pot + 53147 + ’;‘fﬁ + -
MY (L) = po + pst + /;‘ft? + gfﬁ + -
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